Question3.7

000000000 (3.49) 00 (3.51) 00000000000 p(wit)000000000000000
0o

1 T ANy 2
p(wlt) —i(w m) TSyt (w — my) Z§t —wlo(x,))

oooooooobo 200000000000000000000C0CO

N

(w—mo)"Sg (W —mo) + D Bltn — W' p(xn))’

n=1

N
=w'S;'w +2w’'S; 'my + Z (BwT d(x,) (Wl d(x,))" — 28w ¢(x,)t,) + 00

n=1

N N
g (Sal +) ﬁqs(xn)qb(xn)T) w— 2w’ (salmo +8) ¢(xn)tn> +00
n=1

n=1

0 (349) 0000000000000 DOOODOODOOODOODOO mN,S]}1DDDDDD

Sy'=S5" - Zﬂqﬁxn xn)T =85 + o7 ®

N
my = Sy <361m0 +8 Z ¢(Xn)fn> =Sy (So_lmo + ﬂ‘i’Tt>

n=1



